FWT-110

i = =1 Fresh Water Tank
110 gallon capacity

MANUFACTURER OF HIGH EFFICIENCY PUMPS & SYSTEMS

v DURABLE
v COMPACT

v EASY TO INSTALL

110 gallon Fresh Water Tank

- 110 Gallon Capacity, yet only 60” x 34” x 18”

- Floor Tool Storage Brackets

= Storage Shelf for Chemicals and Hand Tools

= Dump Valve for Fast Flush of System - Installs at either end of the Tank

= Epoxy Coated Steel Mounting Hardware Standard, Stainless Steel Optional
= Universal Over the Wheel Well Installation

- Fast and Simple installation, all Mounting Hardware Factory Installed

= All Stainless Steel Fasteners

= Durable Ultra Thick Wall Polyethylene Construction

= Translucent Blue for Quick Visual of Water Level

= Float Valve Automatically Shuts Off Water when Tank is Full

= Heavy Duty Brass Garden Hose Quick Connect makes Connection a Snap
= One Year Warranty

- See Waterhorse Power Washer Catalog for 12 Volt Pumping Systems up to 1200 PSI

13915-H RADIUM ST. N.W. RAMSEY, MN 55303 - Ph: 763-433-0303 - Fax: 888-786-7832 - WWW.PUMPTEC.COM



FWT-110

Fresh Water Tank
110 gallon capacity

Backside of 110 gallon Tank

(Shown with optional Stainless Steel Mounting Hardware)

PARTS LIST — 110 GALLON
Mounting Hardware Stainless Steel
Plumbing Components Item Qty Fasteners Components
Rear Support Base 1 Item Qty
Upper Rear Support Bracket 1 Hex Head Capscrew, 1/4-20x 1/2| 4
Shelf, Tool & Chemical Holder 1 Hex Head Capscrew, 3/8 - 16 x 3/4| 2
g?g;: SCT%TDEAE;DY Bottom Side Mounting Bracket | 2 Hex Head Capscrew, 1/2-13x 3/4| 9
STAINLESS STEEL Floor Tool Front Bracket 2 Flat Washer, 1/4 x 5/8 4
OPTIONAL Well Cover 2 | [Flat Washer, 3/8 x 7/8 2
Gasket for Well Cover 2 Flat Washer, 1/2 x 1 1/4 9
Threaded Rod, 1/2 - 13 x 36” 1
Plumbing Components Nylok Nut, 1/2 - 13 1
ltem Qty | |Phillips Pan Head Screw, #10x 1”7 | 16
Air Valve, 1” M 1
Mounting Hardware Reducing Bushing, 1 1/2 x 1 1 Literature Pack
Gate Valve, 1 1/2 M x F 1 ltem Qty
Plug, 1 1/2 1 Catalog Sheet 1
Float Valve Assembly Installation Instructions 1
a) Float Valve 1
b) O-Ring, 1-116, Buna N 1
¢) Bushing, Brass, for O-Ring
d) Garden Hose Coupling
GFH x GHF, Brass 1
e) Garden Hose Washer 2
f) Q.C. Plug x GHM, Brass 1
Fasteners g) Q.C. Socket x GHF, Brass 1

13915-H RADIUM ST. N.W. RAMSEY, MN 55303 - Ph: 763-433-0303 - Fax: 888-786-7832 - WWW.PUMPTEC.COM



